
Succession 
 

The gradual process by which certain species replace other species in an 

ecosystem. 

 

Primary Succession 

 

A. Lichens produce acids that help to break down the rock.  The broken-

down rock and the decomposing bodies of dead lichens contribute to 

soil formation. 

B. The resulting soil is poor and thin.  However, mosses and ferns grow 

and slowly replace the lichens. 

C. The soil layer thickens, which means it can hold more water.  Plants 

that need more soil and moisture, such as grasses and flowering weeds, 

take root and grow.  They attract insects, such as bees and butterflies. 

D. Since the soil is now thicker and richer, bushes and trees take root.  

They provide shelter and food for birds, mammals, and other 

organisms, which now start moving in. 

 

Secondary Succession 

 

Occurs when there is a major event that reduces an already established 

ecosystem, thus starting a new succession with the pre-existing soil.  


